13000 GeV pp tt
O

a = Y L L B i 7
> — 1c
[0) — : : 1o
O B M(ttbar) (ATLAS semileptonic ttbar) 13
- o =
s/~ | = ATLAS s
k5 —a— Pythia 8.308 default N
108 | —* Pythia 8.308 default-noCR _9!
e — =
L5 - i [90)
g n g
c B e
o B |
Nb
©1077 = =)
° - 19
~ B ™M
— B o
o
L i Nep)
—
n 1=
X
5,
10_8 — —5
i e
— Jo
- -9
— -
= -9
o
- 1 O
— | | l | | ' | | l | | | | l_ E
2 £ -2
) - B
< = ]
-l - —
E | —
kel B |
= B a
o2 B a
0.5 — —0.5
" | " 1 " 1 " 1 " 1 " | " 1 " 1 " 1 " 1 " |
1000 2000 3000

m®y [Gev], HTb"”“} in [780,2500] [GeV]



	Contents
	Page 1


